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QUESTION 1

Which two statements are false about BML? (Choose two.) 

A. BML follows the Object-Oriented programming model. 

B. BML does not need to be externally compiled as the application compiles the BML. 

C. BML has characteristics of Compiled and Interpretive programming. 

D. BML is a C++ based markup language. 

Correct Answer: BD 

 

QUESTION 2

To add items (parts) to a configuration, Recommended Item rules are used. Which two statements are true when using
Recommended Item rules? 

A. Recommended Item rules can return only the base price of an item (part) and cannot use dynamic prices based off
data tables. 

B. If multiple Recommended Item rules recommend the same item (part), the item (part) price is picked from the rule
that is last in the order. 

C. If multiple Recommended Item rules return the same item (part), the quantity of the item (part) is a total of all
quantities returned by each rule. 

D. Recommended Item rules can show only the base prices defined in the customer specific module. 

Correct Answer: BD 

 

QUESTION 3

Identify three types of data written to different log files that you can find in the Error Logs menu. (Choose three.) 

A. email sending and receiving 

B. performance information 

C. server messages 

D. modsecurity messages 

E. administration changes 

F. output of print servers 

Correct Answer: CDE 

 



QUESTION 4

Consider the following requirements for integration with Salesforce: 

Transaction information needs to be pushed back to Salesforce and synchronized. You must be able to 

synchronize a transaction with up to 1,000 lines back to the Opportunity Product object in Salesforce. 

On the basis of these requirements, which three XSL sets should you use to provide the integration? 

(Choose three.) 

A. SFDC Opportunity ?Import 

B. SFDC Quote ?Upset 

C. SFDC Products ?Upset All (200, 400, 600, 800, 1000) 

D. SFDC Quote ?Process Updates 

E. SFDC Opportunity ?Upload 

Correct Answer: C 

 

QUESTION 5

A multi-select attribute with five options is displayed as check boxes. Depending on the conditions, the 

Configurator should show a user three of these five options. 

How do you accomplish this? 

A. by writing a Constraint rule 

B. by writing a Hiding rule 

C. by writing a Recommendation rule 

D. by writing a Pricing rule 

Correct Answer: B 

 

QUESTION 6

Identify four types of attributes that can be set by formulas. (Choose four.) 

A. Integer Attributes 

B. Single Select Menu Attributes 

C. Date Attributes 

D. Text Attributes 



E. Boolean Attributes 

F. Currency Attributes 

Correct Answer: ACEF 

 

QUESTION 7

What is the best method for restricting users from removing line items that are added to the configuration through a
Recommended Item rule? 

A. Write a Constraint rule to throw a runtime error on the Delete Action event. 

B. Add an Advanced Validation rule on Delete Main Doc Action. 

C. Ensure that all the parts are coming from a "mandatory" Recommended item rule. 

D. Use CSS to hide the check box on Line Grid. 

Correct Answer: A 

 

QUESTION 8

Given the following code: 

Which one of the following statements, when placed in the blank space, will give strArr2 a value of "123?" 

A. join (strArr1,"") 

B. join (strArr1, " ") 

C. combine (" ", strArr1) 

D. combine (strArr1, "") 

Correct Answer: B 

 

QUESTION 9

Which two scenarios can be automated with File Transfer Protocol (FTP)? (Choose two.) 

A. An administrator needs to bulk update attachments on a multiple Commerce Transactions. 



B. Every month, an administrator needs to apply changes requested by the marketing department on descriptions for
parts in CPQ Cloud. 

C. An administrator needs to update Configuration Attribute Value Pricing on a Model and deploy the changes. 

D. Every night, an administrator queries the inventory database and updates a CPQ Cloud data table with the new
inventory levels. 

Correct Answer: BD 

 

QUESTION 10

Your users receive a notification for a transaction from CPQ when an approval has been retracted and is no longer
needed. The notification contains a generic message about this action. However, users would like to get more details
about the transaction. What is the Oracle-recommended best practice to fulfill this requirement in CPQ? 

A. Trigger an email action to notify users by custom defining the email\\'s subject and body, which contain the
transaction details, by using the advanced function available in the Revise action. 

B. When a transaction needs to be revised, allow the transaction owner to send a parallel email to approvers, which
should include the necessary transaction details. 

C. Switch the system-generated email-to-email template, which will include the desired transaction information when
approvers are notified. 

Correct Answer: A 

 

QUESTION 11

A new user group has been created in the development environment. What should you do to migrate this new user
group to the production environment? 

A. Migrate Commerce to the production environment. 

B. Migrate the new user group to the production environment. 

C. Manually create the new user group in the production environment. 

D. Migrate the new users to the production environment. 

Correct Answer: B 

 

QUESTION 12

How can action buttons be hidden in Commerce? 

A. by using Commerce hiding rules 

B. by using Configuration hiding rules 

C. by using profiles and steps in Commerce 



D. by putting the action button bar on a hidden tab in Commerce 

Correct Answer: A 
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